20.01.21r

JInHenHbIe
ypaBHEHMA C OJHOU
nepeMEeHHOMU,
coJep: Kaigue
IepeMEeHHYIO IO/
3HAKOM MOJYJIS



Mopaynb uucna - 4mcno

NONoXuTeribHoe

e No822 e No822
*IxI=3 °IxI=3
*|X|=-3,9 eInl= - 9
elyl=-1,6

°l-mil=-8

e-lnl=-9



Moaynb 4ncna — paccTtosHMe Ha
KOOpAMHATHOM fnyJe

IX1=2 Nog823
CTp.22



Ne824

IX|+3=5
IXI1=5-3
IX1=2
OTBerT:
X=-2; X=2



No824 Ne5,6 cam.

12X1+3=9 15y1-4=6
12x1=9-3 15y1=6+4
12X1=6 15y1=10
IX1=6:2 lyl1=10:5
IXI=3 lyl=2
OTBeT: OTBeT:

X=-3; X=3 y=-2; y=2



IX+31=0 IX-51=0
X+3=0 X-5=0
X= - X= -
OTBeT: OTtBeT

X=-3 0TBeT 1 X=-5 oTBeT 1

Ne3 4,5,6 cam.



